7.40 Binomial Theorem and Pascal's Triangle.notebook

May 29, 2018

Solutions

Nov 20-18:35

1. The first four entries of the 12th row of Pascal’s triangle are 1, 12, 66, and 220.

Determine the first four entries of the 13th row of the triangle.
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2. Expand and simplify each binomial power. |
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4. Expand and simplify each binomial power. |
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4. Expand and simplify each binomial power.
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4. Expand and simpliFy each binomial power.
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5. Expand and simplify the first three terms of each binomial p
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10. Expand and simplify (3x — 5y)S. | l |
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